ouT IN

Bitspower’ for MSI MEG Z490 GODLIKE

® [
® @ < @ EE {q:
(. : R ) © ) 1
i 12 @ - hREN @ EL AR HAYDRGBIEE - S o ® @ BP-MBMZ490GL-V2 14
Digital RGB PIN on @motherboard or @ other equipment. e @ 1.5 S 2K
B O R @ = 2 EMDRGRIE -
o - (3@ BE=T 8 K
(28 =» BPTA-DRGBMFC B R B B ae
< Original He_atﬁsmk\‘ 2 @ BiRER 1A
> FIHMER ¢ (B 3mMBRBESZA 1A
M2x3.55R RRIR 44 [} 4 SE
M2x3.5 O);Ig’\na\ Screw ——F—— 3 @ EWER 1A
M2x3.5/R) 84 @ $AEET) 4B
D
M2.5 x 10 B3k B4 4%
(® M3x10=KiE4 4%
FiR DRGB#ZHIZE (A E57) 0
motherboard DRGB Multi Function Controller(Not included) Accessories
FiR DRGB#ZHIZE (A E57) ) @
>= BP-MBMZ490GL-V2 1 SET
e @ 1.5 mm Thermal pad 2 PCS
(3 Washer With Gum 8 PCS
@ Back Pad 1PCS
(8) 3M Paste pad 1PCS
@ Metal backplane 1PCS
. @ Washer 4 PCS
=X M2.5 x 10 mm Screw 4PCS
4 (9 M3 x10 mm Screw 4PCS
fic &%
[REE R
Original baﬁfkrp\zr;g \éKj\\< @ BP-MBMZ490GL-V2 14
o S @ 15mkSmap 2K
@ BRET 8 R
N @ @ wmiREA 1A
7 @ 3SMB R %L R 1k
® =EEIR 1A
M2x6.8 R BRI ARG 1L S
M2x6.8 Oiig’\na\ Screw T ~ @ @ ZREE 4k
M2x6.8/8 $242 ﬁk i @ M2.5 x 10 K822 4%
(® M3x10=kigy 4%

Bitspower reserves the right to change the product design and interpretations. These are subject to change without notice. Product colors and accessories are based on the actual product.

FRERBHERNRAELURBENES - MEEHOASTEN - EREACARGURYRE -
& KRTREN MR BRI RBRNNT - MAENOASITEN - RIS SEGFUIIRE



/\

Bitspower’

BRARNEAENERERUS

ER - BKAT - FB5E
ETT24/)\F 9RK

] mesmsns
[] 1.5 MMEszR

PAIASHERRAERNMEL - EARMIER - ERIRHNELT -
- BRRRKELEERIH - BeRERKMENEHTHER -

L 3808 ece 88 o0 % 000 4000 %°9 oe 87

Applying the thermal pad and thermal paste on correct positions.

|:| Using appropriate amount of thermal paste.

[] 1.5 mm Thermal pad

Before filling in the water, please make sure all the components are installed correctly.
To prevent any leakage which may damage the PC components, please perform a
24-hour leaking test with only the pump connected to the power supply .

/N

EE - KA - BRBIAIASHERREERMME L - £RFEN - BFKRPERT -
HT24/NNEERKI - BRTRKIEREETEN - BERERKTNSRBMBHAIRE

V1/58—hi



Bitspower’

A5 : BitspowerZZHEE ERAZMEK - AFK - MABitspowerfIREER K2 RER ; MEFBITEBNKLSRENERERE - KBEEE KRB
A BALER - KEERRYZHEZENRREKERECAURNZEER - HEZRTEERAERTR -
REKE - FZRENIKRENR -
Notice:Bitspower recommends that consumers add the Bitspower dye to distilled water or purified water for their water-cooling liquid. If the
consumer chooses different water-cooling liquids, the resulting impurities may cause peeling of the coating on some of the hardware,
water channels blockage by built-up residue, improper operation of the water pump, water tank tube breakage, and o-rings deformation

leading to leakage. Any issues related to the use of inappropriate water-cooling liquid will be the responsibility of the consumer.
Do not turn on the pump if the reservoir is empty.

X3 : Bitspower BIUHBREEMAMEK - 42K - MABitspowerfIRFIERKSRER ; MBEFETEVMMNKLSRSHBEERE - KEEE - KRE
A MALEE « KEERRAZHETELUBRKEREEATRNZOER - BREEBTEERRTRIE -
RiEKE - BZEMKRER -

Before fill in water,please make sure all the component be installed correctly,avoidingleaking happen and destroy the PC component.

AR - HUKET - BEWAMASHCZREEBRNUEL - £AFEN - SFKRNBERT - #T240NEEANE - BETEKEREBAEN - #eRERKNSHEMBERA -

AATREHERMR ELAURBENES - MEESHOABTEAN - ERBEARFURYRE - pope
Bitspower reserves the right to change the product design and interpretations. These are subject to change without notice. Product colors and accessories are based on the actual product. Vl/% - H’i
KTATREN R ERURERENNT - MAEEHBASITEMN - FRAeSkAUT Ik -

2 AR HUKED - BEERMASHCRREERNUEL - EAREW - BERKRIERT  ET240EHEKE - BERBKEREBRIN  BRltERKMENEHBMHER -



